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o Vo, Lo-Daten uy=(A — 550) / 50
Zapfenempfindlichkeiten log o=-0,35[,—u 12
logVip=—0,35[uj~U:.]

o Lo l0gL o =—0,35y~Us7q 2

Lo

Schwelle
ta=0,00

3 ux
700 A/nm

uy=(A — 550) / 50

log ¢=-0,35u\—u 2
log * o=—0,35[u,-u
log©¢=-0,35u,-u
Adaptation: A =

maximum

lo

tz=0,00

3 W
700 A/nm

uy=(A — 550) / 50
log =-0,35l)-u ]2
log o =-0,35u\—u 12
logLo=-0,35}~Us7d?

570 Adaptation: A =

maximum

log(“ - m)=-0,3]
m=0,44
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L. =(Cot o)/2

u=(\ - 550) / 50
10g ©0=-0,35u)~u. - ]?
Lo=L /0,44 logL o =—0,35[u\~Us7d 2
Lio, L, Co, Loy 0 log ¢=-0,35[u)\-u ]2
0 #20NR[700% s Adap.: A =570
. maximum
log(L - m)=-0,39
% L m=0,44
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TUB-Prufvorlage EG50; Relatives Elementar-Farbensehen

o o Co Lo, o-Daten

log ¢=-0,35uy-u 12

log 0=-0,35[\-u ]?
o “olo o

uy=(A — 550) / 50
log©o=-0,35uy-u 12
|OgL0=—0,35[J)\—U57o]2
log 0=-0,35L\-u ]2

Lo

Schwelle
ta=0,00

f ux
700 A/nm

, “lo» 1, Yie-Daten
=( ot C0)f2
o= 1044

uy=(\ — 550) / 50

log ¢=-0,35u\—u 1?

log - 0=-0,35[\-u ]?

log©0=-0,35y-u--]?
Adaptation: A =
maximum

log(* - m)=-0.3
m=0,44
Schwelle

t4=0,00

3 Uy,
700 A/nm

uy=(\ — 550) / 50
log  =-0,35[\-u ]?
log©o=-0,35uy-u: ]
logL o =-0,35[\~Us7q?

570 Adaptation: A =
maximum
log("~ - m)=-0,34
m=0,44
Schwelle
t2=0,00

3 Uy,
700 A/nm

L Lo Yie - -Daten
L =(Cot o2
Lio=L /0,44
Yie=Lo=L 1, 12/ =L .~Lo

u=( — 550) / 50
log0=-0,35[u)-u-]?
|OgL0=—0,35[J)\—U57o]2
log 0=-0,350\-u ]2
Adap.: A

maximum

Schwelle
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L.—Lo
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700 A/nm
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o Mo, Lo-Daten

Ur=( - 550) / 50

Zapfenempfindlichkeiten log o=-0,35[u\—u 12

(o]} LO
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logLo=-0,35Uy~Us7q?
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Lo

Schwelle
ta=0,03
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uy=(A — 550) / 5(
log ¢=-0,35u\—u 1?
log  o=—0,35[u)-u
log©¢=-0,35u,-u
Adaptation: A =

maximum
lo
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u=(A — 550) / 50
log  =-0,35)—u ]
log©o=-0,35uy-u- ]
logLo=-0,35k~Us7d?

57G Adaptation: A =

maximum

o log(" m=-03
m=0,46
Schwelle
ta=0,03

1 3 U

600 700 A/nm
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Te70 s Adap.: A =570

% maximum

‘ Schwelle

'~ =
S t‘a—0,03

ux

EG501-7A
EG501-7N

600 700 A/nm
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log 0=-0,35[-u ]°
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i
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ux

o, Yie-Daten
=( ot “0)f2
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Adaptation: A =

maximum

Schwelle
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- (0]

700 A/nm

uy=(A — 550) / 50
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